
Activity G Memo 

 
1. Salary = R8 000 

Investment = R172,50  
 

2. Car loan = R2 000   
House loan = R3 500  
Water and electricity = R1 800  
Clothing account = R1 000  
Groceries = R2 800  
Gardener = R500  
 

3. R8 000 + R172,50 =R8 175,50 
 

4. R2 000 + R3 500 + R1 800 + R1 000 + R2 800 + R500 = R11 600  
 

5. Water and electricity – use electricity wisely - fix dripping taps, shower 
instead of bath, only turn the geyser on for a few hours during the day.  
 
Clothing accounts – he can buy less expensive clothing, revamp his 
existing wardrobe.  
 
Food and groceries – Sanele should not waste food. He should buy in 
bulk when shops have specials. 
 
Gardener – he could dispense with the gardener and do his own 
gardening. 
 
 

          


